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adaia (e LIRS g SN J g 6 Sl
Part One MCQ

Q1 Js¥) Jismd)

Q1:- Find a pair of polar coordinates that name Opad (Al dpdadl) lflaa¥) (e Blial 755 S -
the given point if —360° < 6 < 360°. dLail)

A(2,300°)
a) (—2,30°) (V’/ D -%64s) = (2, éo)
(21509 (‘Y ( 9-\\?0) (~2.1n80) X ke ©

(=2,120°
(2,210) (—\(1 9—\56) = (-2 \20)V

Find a pair of polar coordinates that name Ol ) Agdadl) AlflaaY) e bl z g 8 - i
the given pointif —2m <0 < 2m. ddaail)

(55

v p-27)= (5, LT 27) - L)

(=v1 D2x ™) - (-6 ,‘1_1‘,1\):(-5/‘%“) Jo iV
6

- TRy -(5 %
(v 1 ® ryt(-s,‘_‘_é, NG /;T.\z/

Q2 AUl Jigedt

Q2:- Find the distance between the pair of points.

A(2,30°),B(5,120°) $@ FERYT ‘P

o= ) N 0 = 20 va €50 6,)

e J 9% 5 L _2(2)(5) cos(30-\29)
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Find the distance between the pair of @ NP é{\ o) cpibadill o ddladl an gl - 120

A(S,E), B(B'%T &)@MV

points.

V:J3+5 ”2/3)(5)(’on “r AV

Bl

r=10.7

Q3:- Select the equation for polar graph. Sl Jiall Lpdaal) Aalaall i) - 30
a) 0 =135°

s
6 = 140° \ @’V'P
O 2\5;\}\

0 =—135

6 = 340°

E =

Q3:- Select the equation for polar graph. Sl Jiall ddadl) dlaleal) gl - 130

a) r=2 | PPN
r=4 &7\}\\)7/ b)/)

r=2.5
r = 6.25

=

Bage das Y
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Q3:- Select the graph of the polar equation. dpdaal) dalaall L) JAal gl - i3

\)\/’\IPJ\WWD,}(\) r=4
b)

4:- Write an equation for the graph. - 4o
a) r =3sin6 o Jsase,
b) r=3sin26 <
c) r =3cosf

= ca S'\V\%
S
d) r=3cos20 vesEme

1w

6
Am
3

Write an equation for the graph. - 4o

r = 2sin 360 R " 4
4} =
r = 4sin 360 < odd

= O N4
r=4cos§9 " =2 0

r = 3 cos 360 V"_Hs‘v\ga

Bage das Y
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Write an equation for the graph. Al Sl Jiall sl i)
L

S AN S TN

F: Ycas g

-4

r? = 2sin 20
r? = 4sin 20

r? = 2cos 26

r? = 4cos 26

Q5: - Find the polar coordinate ddanll Apdaall clflaay) aa gl
P(1,v3) ,0< 6 <27 oF

-5

Ve N
O~ tor"

)
7)
)

N—"

Q5: - Find the polar coordinate idaaill dpdadll cildlaay) as gl

- 5w
P 12) ,0< 0% b ,
(M ¥ T

=-6<o

a)  (6vV5,111) ) (6)  aprgt =5
(B)) (6v5,42) %

©) (6\/5,%)
d)

Bage das Y
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6 (cosz+ lSll’lE) .4(cosz+ lSan)
—12V2 + 12V2i MNP B oConpien ofs aJ U pip
—12v2 — 122 Oy |
12v2 — 12V2i e
12V2 + 12V2i

A

=@xeff€oq -3 1l sy
T

= Q%[%@* (g;) :—IQJ/Z—\/?E[

3(cosz+isinz)+4(cosz—n+isinz—n) J o
6 6/ 3 3 . e
— : L-)j)\‘u//' “ )
=2 e ais -2 )

— —%\ [O‘\ i("‘)J: "_Z{i('

Q7 i) J) gl

Usama’s employer offers him a pay rate IS 08 52 33 Ay ol bl o Jaal) cinlom (o
of AED 33 per hour with a Lo el 4530 JS 53 0)3 0,50 () ddluaYly el

€.l sel delu JS0 dald olialiin (2 aluddl  Maal
AED 0.50 raise every three months. How (2 3 > 8% s o) ol (flaa)
much will Usama earn per hour after 3
years?

3 (@ 33) (x/9) Y= 0.5
V-33= G5 ((A=0 = Y= 05 X+ 33
=090l + 33
N =B

Bage das Y
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Q7: -

Yasmin is saving her money to buy a car. She =~ 23950 lexls Sk ¢l Al Lell el 00 Gpanly A
has AED 950, and she plans to save AED 320  «* ¢k O g sl S 055 320 J‘iﬁuﬁ
per week from her job as a babysitter. How S asi] . v

. . Tanlul 8 2 (penly HANL oS
much will Yasmin have saved after 8 weeks?

3510 (Ol 0\60} (*/‘j) NA = D2«
2560 Y = B2oX~AS O

7920 Y= 22e(8)rADO" 59\o
4000

There are 28 seats in the front row of a oo 0S5 7 meally JY) il 8 130028 i L7
theater. Each successive row contains two R e

more seats than the previous row. If there
are 24 rows, how many seats are in the last
row of the theater?

a) 70 C»’ 22) = 0k ) =2

Sonals Y] Caall i 13aka oS8 (laa 24 Sl

b) 72 \ATQQ[\_\\«’LZ
@74 Y- 2(m-Nx28 = Y

d) 76

Q8: -

Which of the following sequences are A e 4l sl (e g - 18
convergent?

5 (o) e S\ THN\G VS <dt” oP &~
=10n —oo O\ 3;57\00 BANSALE g
a, =n?>—3n+1 A o . = \

MV V5 e T s 7

An

Com O PV 52 D U

Bage das Y
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Which of the following sequences are sae e 4N Ll (e g - 8
divergent?

Q10 <iladl J) igaud)

Q10:- Write the equation for the nth term of the Agbal) Al gl sl S - 1100
arithmetic sequence:

ag=12,d = 8
a) =—-2n+38 O\V\=a\—\(\/\~l\ ;\

=o5n—14 ay = O\\F\(é—ﬂﬁ:\l:)@\\:—?_%
=-3n+72
O\/\? -2 3 —‘«\V\‘\) (8D
8n — 36 Own: Zn-3(
Bage Mas i)
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Write the equation for the nth term of the Al il sl sl il - 100
arithmetic sequence:

-

31,17,3 »¥
= 14n Crr= N\ AT I F-351 = -\
= —14n + 45
=14n+5

On= Ghvan-v g

Ov\::\}\-k/(m-\)(—\vl\
a, = 14n + 17 C)\v(°>i Y3 — iy = oaws=Mwn yy g

Q11 e saad) Jiguddl

T [onrda]= 1 [y

/ = \ooc®

-18,+(—=15) + (—=12) + --- 66 !

e O3 - de> On=4g¢ O?\,‘s’
FrsOnsp - ) =20 = VT4 (M=) 3)=46= n=2 ¢

Soq= }ch [ “\6—*({3\_},:

a,=-16,d = 6,n = 24 -'>!

/

Sn= = (200 +n=-1)d ]

Saus 291 2¢14) A@Eu-)¢)

%24: >T:2t[_2 //«

Bage Mas i)
https://t.me/+XPfMBpsQpVxjNzNk http://www.youtube.com/@imaths2022
9



https://t.me/+XPfMBpsQpVxjNzNk

Q12 Lés AU J)ged)

Q12:- Find two geometric means between O Opedid (plawgaagl - 1120
81,-3 \
9,27 “sy el OB e s
—-27,9

\f’:w',] O ~3’i S
4'8 O\ - 81 3

—8,4.

Q12:- Find the geometric means in the Lpigl) Aall 8 dpurigh Llu ¥l aagl - 1120
sequence
0.5,—,—, —,128
+4,16,+32
+2,8, £32

+1,4,+6

+1,8,+64

Bage das Y
https://t.me/+XPfMBpsQpVxjNzNk http://www.youtube.com/@imaths2022
10



https://t.me/+XPfMBpsQpVxjNzNk

Q13 e &l Jijgudd)

Q13:- One minute after it is released, a gas-
filled balloon has risen 100 meters. In
each

succeeding minute, the balloon rises only
50% as far as it rose in the previous

minute. How far will it rise in 5 minutes?

a) 625 O\: \oo

b) 187.5 S,

23 100 Adlsal lally (liae (5l adi ) o slall
A el any d3da JS 4y 48] (e diis

&b Leeli)) A Adludll (e 1850 %50 oL
amy L) o ) Ailsal) Lo 48,00 a0l

- 13-

V"——C)\S V\:g

- O\C l‘r")

V=rvy

@ 193.75

d) 1500

Ss

Radon has a half-life of about 4 days. This
means that about every 4 days, half of the
mass of radon decays into another element.
How many grams of radon remain from an
initial 60 grams after 4 weeks?

0.2344
0.46875
0.9375
0.9285

O'\:BO

c)

n :O‘\
d) o

6
| — 0.5
= Lol ) Ja3

=05

Akl 4 s sl e fguwéu
AL Canal Jlam oGy 85 sl 4 JS 48] iy 12a
oo W oS8 AT e ) sl ) eaic
2 Al e 353 50 60 g e i 033N

0.5 n="=1

n -1

r/

14
Oq3=3%0f0s) = O UEg 5

A virus goes through a computer, infecting
the files. If one file was infected

initially and the total number of files infected
doubles every minute, how many files will be
infected in 20 minutes?

a) 1048576

@ 524,288

c) 2097152
d) 40

o'zo: ﬂ

1y lilall Upmn Cagula (2 Gyl iy
e ielial ge jeY) 5ok A cile Cual
) lalall dae 4S8 ddds S Abadl) cilalall
4883 20 2 Sl

l 2, M, Z2----—7

(2) = G24u289

Bage das Y
https://t.me/+XPfMBpsQpVxjNzNk http://www.youtube.com/@imaths2022

11



https://t.me/+XPfMBpsQpVxjNzNk

In the figure, the sides of each equilateral &MS{\ & sluiie lia JS tMT Ao il 8
triangle are twice the size of the sides of its 1305 4y (alall Lladll Calial) ¢ Sl aaa Cazaa

inscribed triangle. If the pattern continues, S J gl lains & gane dad daalll il
find the sum of the perimeters of the first “ g
eight triangles.

240 cm
119.0625
39.84375 cm
119.5cm

- e

et
=)

= \q.9

The first swing of a pendulum travels 30 s das V1A jalde ghaiall dilud) &ls
centimeters. If each subsequent swing travels A8 a JSddlie cxli 135, 30cm Jsaudl
95% as far as the previous swing, find the aad A4l Aaa Y1 AS A (e %95 Al das )
total distance traveled by the pendulum after Ao,V e ol Lgakaiy S LIS dalaal
the 30th swing.

537cm O30 X = o459

471 cm 3 o)

464cm S g6 Zo( N 279

7cm \—oas

- Y33

Q14 < gl A J)guad)

Q14:- Find the sum of the infinite series id it Daa g o) Al Al ¢ geseaag) - 11410
exist:
18 12 8

7 7+

-\ 2 : =2 =2
: : z =

does not exist

Bage das Y
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12



https://t.me/+XPfMBpsQpVxjNzNk

Q14:- Find the sum of the infinite series id it a5 O Al Aluluiall £ sene 2a ) - 1140
exist:

a)

3
4
7
3
5
3
d

oes not exist

Write as a fraction 2S5 ypa Jo i€l o150

0.21 :
s~ I DRV
T 02V 211 2121 2121 2
d;\-“"‘%(é\'
- _E

S

PSoypale Sl s

0.21

1

P an i PR
0218181881683 (g
k_j)k_/~‘i (";A

\“
55

Bage das Y
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sl G ¢ 5l
Part Two FRQ

Q16 e uabad) JI seud)

Q16:- Write the equation in polar form. Aphail) 5 ) eall e Alaleall ciS) - 1160

A=Y (059 —>

Q16:- Write the equation in polar form. Akl 5 ) geall e Adladdl S - 1160
(x +5)%> +y* =25

’)(_Lk\o‘ﬁ-‘(l/‘/%\i o Q/@

gt
N\

K=y
‘(q: -\o?C Co=R

--\o AN

¥ —-\0Ce>9)

Q16:- Write the equation in polar form. Apkaill 5 ) peall e Al Sl - 1160
x = y?

v Cosa = & 55D
D — \N oW

L

O% > \\S
XD %
SR 50

CovD (scD = \ /%

-

Bage das Y
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Q16:- Write the equation in polar form. Akl 5 ) saall o Alabeall S - 1160

y =3x
(ord = {5 s

— YKBQ

3

\on (13)

Q16:- Write the equation in polar form. Akl 5 ) geall e Adladl S - 1160
x-1)?-y*=1

S I
N = \fli 2~

\{fL Caé"a-\(qSlV\L’bi Q{ o> é

\(’ZX_ CoSli)——S“VZ\@\T 2 Y CoSH

B 2 C=3%D . N =
( B Cost =5 V\Z@_b)

Q17 e aaled) J)igaad)

2(s59
Ced>19)

Q17:- Find the power and express it in A5 )l 3y peall Je 4S8 Lleaay) - 1170

rectangular form.
6
(2 + 2v3i)

\r:!(o_\% (2B)Y -

NG
@: RN C_/;- - X

3 €
s - (e 33

A R PR
= Mo esm ™y i) T ol

Bage das Y
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Q17:- Find the power and express it in A5G 5 el e 48 3 L lesay) - 1170
rectangular form. .
(12i-5° = (5120
Pl ED 0 -\ -
~ \2 _
O = \.A%
- 3
(- 5)- (W ( cos a4 ¢ S8 1oy =
3 .
\> V(.@; (MOATY = D~ O)( \,O\u\x

— 2\a3\ oAy - 63(5@—_ 2o43.2 - 3ol 35 ¢

Find the power and express it in A )8l 3y seall e ansl a3 Lileaa) - 1170
rectangular form.
4

(4(cos g+ i sin g))

2y
U\( &) V\LT‘;)-\“ S 1\G§m)>

- 256 (((e5 2 NY L ST

. 296 X

Q18: - Find the specified term of each sequence. ehlea IS Al jlidl aallaa gl - 1180
4th term, a; =5, a,, = -3a,_1+10, n> 2

Q= 5

O = 2(5)xme=75
Q2 = —5(-6)Ave =25
- “3(29)x\0=—£9
Bage das Y
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Q18:- Find the specified term of each sequence. b Lee JS (A4l Uil aall 2a )

- 18w
3rdterm, a;=3,a,=(a,_1)*—-5a, 1+4,n> 2

=5
Cay = C’ﬂz- S (N)+U = -
Oy = (Y -9V (g

Q19 < i) J) )

Q19: - Find the arithmetic means in each

b las S Aball Tl g¥1 n gl - 1190
sequence.

_61_;_1_ \/\__ ()

Q19: - Find the arithmetic means in each

b las S buall Tl g¥1 a gl - 1190
sequence.

_28) —l _) _J _) 7

(%: —_‘__(—?_3)? ;i—;l
- 9

W= 6

—

_2%/_2\ I -\, "':"10 /q'

pE——
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Q20 e (15 ydal) sl

Q20: - Find the indicated term of each hlee IS Al jliallaallaa gl - 1200
expression.

=2 (x +22)7 b owldd) aal)
oo Sl L3\ s Y

'S ¢

V\C\Q N @‘ ’ZI-S

2
1CA 7? szj - 21 N 322
BVEER

Find the indicated term of each ehlea IS Al jlidlaallas gl - 12000
expression.

&-4

6
§C¢ (29)  (2W)
29 (%

iliaill qual

Best wishes

&JJJP@-&S&&L«MJNJL’Au&Mgﬁﬁ‘Je‘Jﬂ\ 31.'@@&‘5\%3
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